bwmt) Cled, WL %uwv\& ove Solwrown Yo
Mma& \"LDM %w\ \Juw
P'\’ ¥o-0O.

Ly “+%xg) « (2x*- Ny=0

Tiese, we Q‘M\& wditied e%w*\w\
Artav-\ = O
(’J_yvh (y+1) =0

\NI voo X3S V’VZ)’
The Slukvown 31()() O.SSOOLM}G‘ Yz ‘/7_

b = |1 ZL -\ 3\3

. . F"
W\"@J\’ ak)ouk’-\’\“. Qo\uffww QQSOW:J«.& 3@ v =\

The W VLAV vEntL rlsdon @
AR Y (g,(ryﬂv r 3er§»\ﬁ O (cots A X \

‘(\711 O . 2w

" Gl ( cockt oy )

O\Md “’VWS) ?0/ Y"'\

O, = /43*’“’2&“'
" n{2n- 5)

leXtS st nguo Wrans -




—7 o, — Q.
W= 12 Ql_ T EGe :
2 (4-%)
\(\:—3 Q,3: :__fo_'-— - O 5#;30& q|—_—,0
3 {-2)

[h(l‘d’) a?—lwt-;o 'Q"(J}\ }L

- (W
h= 0. loa TRy o 3/2\/551
LU29) 5

Q'L = (ﬂ\)la"
s e
2 . ' .
SQUMO\ %\Mhon(’. Uzb‘) - 2___ &n?("f w\nwc V:*’\ ) O Ay, \S
Nn=o

‘Nnkov\owl)
0 m nis odd v

Oy WHn =2, won.




%o Seeanol Solwhion 1S

L) - (0 \
\j " (QX *Z '-IL,S)

k!lsq.-

Bur 0, ton loc abstrhed” Ly Ly (‘t’c\sa m%‘r“*\
Wl e (om @dk onk O Commen Qw\w cnv 'x".

= ~()

-
1= X (\'\r (e
M \o.\6‘1 (k) A




